Chapter 10

Third Declension

Exegetical Insight

A casual first-century reader of the Fourth Gospel’s prologue (John 1:1-18)
would have little difficulty understanding John's description of the Aoyoc. As a
concept it was simple enough. Adyog was the intelligible law of things. ‘O Adyog
100 Beod was God'’s transcendent rationality that gave the universe order and
purpose. A Hellenized Jew would quickly reach for a volume of wisdom litera-
ture explaining that God’s wisdom, his word (or A6yog), provided the universe
with its form and coherence. As such, 6 Loyog 10D 6eod was foreign to human
ways, above us and distant from us, guiding us from afar.

John 1:14, on the other hand, would make any such reader pause in stunned
silence. “And the Adyog became flesh (c@p&) and dwelt among us.” Zapé is the
earthly sphere, the arena of human decisions and emotions, human history,
and human sinfulness (cf. John 1:13; 3:6; 17:2; etc.). John 1:14 contains the risk,
the scandal, and the gospel of the Christian faith: 6 Adyog became cdpé. The cen-
ter of God’s life and thought entered the depths of our world and took up its
form, its o6pg, its flesh, in order to be known by us and to save us.

This affirmation about Adyog and c6p§ is the very heart of our faith. God has
not abandoned us. No lowliness, no misery, no sinfulness is beyond God’s com-
prehension and reach. He came among us, embraced our world of 6apé in his
incarnation, and loved us. It is easy enough to say that God loves the world
(John 3:16). But to say that God loves me, in my frailty and my faithlessness—
that he loves cp&—this is another matter. This is the mystery and the power of
what God has done for us in Jesus Christ.

Gary M. Burge

Overview

In this chapter you will learn:
m the third (and final) declension (stems ending in a consonant);
m  four hints for the third declension;

m  the full Master Case Ending Chart;

94 Basics of Biblical Greek

bbgreek4_02_bm.indd 94 @ 11/8118 8:11 AM



®  Noun Rule 7, the “Square of Stops,” and the effect of ¢ on stops;

®  Noun Rule 8.

Introduction

10.1  Meaning. What is the difference between the first and second declen-
sion? Right. First declension words have stems ending in a or 1. Sec-
ond declension nouns have stems ending in 0. And what declension
a noun falls into has no effect on its meaning. Regardless of whether
andotolog is first or second declension, it still means “apostle.”

10.2  Function. Remember that all Greek nouns, regardless of their declen-
sion, function the same. Only their form may be somewhat different.

10.3  Nouns with stems ending in a consonant follow the third declension
pattern. This is part of the first noun rule.

*GOpK + OV — GOPKAOV

10.4  Final consonant and the case ending. When you first look at a para-
digm of a third declension noun, you may think that it is totally differ-
ent from a first or second declension paradigm. It is not! Because the
stem of a third declension noun ends in a consonant, that consonant
sometimes reacts to the first letter of the case ending, especially if the
case ending begins with o.

For example, the stem of the second declension noun Adyog is *Loyo.
The final o joins with the nominative singular case ending o to form
Moyog (¥hoyo + ¢ — Adyog). No problem. But the stem of the third declen-
sion word cdp& is *copk. The « is united with the same nominative
singular case ending, and the combination of ko forms & (*copk + ¢ —

o6pE).

While the ending of cGp& may look different from that of Adyog, it really
isn’t.

10.5 Different case endings. The third declension uses three new case end-
ings, and two that are a little different. If you have been memorizing
the case ending with the final stem vowel (e.g., og and not ¢ for nomi-
native singular), you may want to go back and learn the true case
endings.

10.6  Four hints. If you can remember just four hints, these changes will not
be a problem. As you will see, the basic issue is what happens when a
o follows a consonant.
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1. Because of the changes that take place in the nominative singular,
it is often difficult to determine the stem of a third declension noun
from the nominative singular form.

The solution is to always memorize the genitive singular form with the
lexical form. If you drop the genitive singular case ending (e.g., o),
you will normally have the word’s stem.

The lexical entry cap&, capkde, 1) shows that the stem is *capk.

2. Whatever happens in the nominative singular () also happens in the
dative plural. This is because the dative plural case ending (ct) also
begins with a o.

*oopk  + ¢ —  oopé

*oopk + ot — oapél
3. Avdrops out when followed by a o.

*Ty + ¢ - T

*Tv + o — 1iol
4. At drops out when followed by a o, or if it is at the end of a word.

*ovopor + ot —  OVOUOGL

*ovopat + -  —  dvoua

In the case of dvoua (*6vouar), it is neuter and does not use a case
ending in the nominative or accusative singular. That is why the t
is at the end of the stem but then drops off because there is no case
ending.

This is a slight simplification of the situation, but if you can remember
these four hints, the rest of the third declension is easy to learn.

Since Greek has only three declensions, once you understand them you
will be familiar with all the basic noun paradigms in the New Testa-
ment. So work on these and you are well on your way toward success.

A Walk Through

10.7  Following is the paradigm of a third declension noun: capé (*capk). As
always, the case endings are in blue. Don’t be frightened; cap& has only
three case endings you have not seen, and two other endings similar to
those you already know. At this point, don’t try to memorize the case
endings; just see how they work. The paradigms of Adyog and ypogr are
given for comparison.
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nom sg *GOPKG —  o0pé AdyOC YPOo.OY|
Qen sg *GOpKOG —  cOpKOg Adyov Ypapig
dat sg *GopKL —  oopki AOY® YPOpT
acc sg *GopKo —  capKa Adyov YPOONV
nom pl *GopKeS —  o0pKEG AdyoL ypopoi
gen pl *GopKoOV —  copK®V Ady@V YPAPOV
dat pl *osapkouv) —  coap&i(v) AdyoLg YPOQOIG
acc pl *GOpKOG —  GapKog Adyovg Ypapbig

Let’s walk through this paradigm so you can see how easy it is.

6ap&. The normal nominative singular case ending is ¢. When you add
it to this stem, the ko combination is rewritten as &. capx + ¢ — 6apé.

capkdg. o is a new ending, but it is easy to remember. The genitive
singular case ending for first declension nouns is ¢ (e.g., ypaofig), and
for second declension nouns it actually is o (which contracts with the
final stem vowel to form ov, *Aoyo + 0 — Adyov). Put 0 and o together,
and you have the case ending for the third declension: oc. capk + og —
oapkoc.!

capki. The dative singular case ending is the same as for the other
declensions: 1. But because a third declension stem ends in a consonant
and not a long vowel, the 1 cannot subscript. capk + 1 — copki.

capxa. The accusative singular case ending is different for the third
declension: a. capk + o — capKa.

capkec. The nominative plural case ending is different for the third
declension: gc. capk + £ — GAPKEC.

capk@®v. As always, the genitive plural case ending is beautifully con-
sistent: ®v. copk + @V — GopKOV.

cap&i. The dative plural case ending for a third declension noun is the
exact opposite of the first and second declension (i) and sometimes
includes the movable nu: ci(v). Because it begins with a 6, whatever
change we see in the nominative singular also appears here. capi +
o1(v) — cop&i(v).

capxagc. The accusative plural case ending is different for the third
declension: ag. copk + ag — obprag. Do not confuse this with a first
declension word where the o is part of the stem (ypagdc), although the
similarity may help you remember the case ending.

! How will you not become confused and think that capkdg is a nominative singular

masculine from a second declension word, capk6g? Vocabulary memorization! The lexi-
cal form is cap&, not copkdg.

Chapter 10. Third Declension 97

bbgreek4_02_bm.indd 97 @ 11/8118 8:11 AM



10.8  There! That wasn’t very difficult, was it? There are only three new end-
ings (o, 0, €g), and two that are similar (c1[v], ag). You now know all the
major case endings. Congratulations! Let’s work through the formal
presentation of the third declension.

Forms

10.9  Third declension words are categorized according to the last consonant
of the word'’s stem. Below you will find the capé paradigm and then
two more paradigms of third declension words: stems ending in port
(149 words in the New Testament) and stems ending in v (77 words).
Read through the paradigm and footnotes so you can see why the
forms do what they do. Don’t bother with memorizing until 10.14.

10.10 K stem pot stem v stem

*capk *ovopat Y
nom sg oapé Svopa® Tic®
gen sg 60pKOG OVOLOTOG Tivog
dat sg* oapki ovopaTt Tivt
acc sg oapKa Svopa’® Tiva
nom pl GOpPKESG ovopata® tiveg
gen pl COPKOV ovopdtmv Tvov
dat pl” ocap&i(v) ovopaoi(v) tiouv)
acc pl: opKag ovopaTa Tivog

2 No ending is used and the final consonant of the stem, which is a 1, drops out
because a t cannot stand at the end of a word (hint #4, 10.6).

3 vdrops out before ¢ (hint #3, 10.6).

* The 1 does not subscript in the third declension as it does in the first and second. This
is because 1 can subscript only under a long vowel.

5 All nouns ending in pa are neuter. This is one of the few consistent patterns in the
third declension. Like all neuter nouns, the nominative and accusative endings are
identical.

¢ The way to tell the difference between this form and the nominative singular is to see
if the whole stem is present (e.g., *ovopar). If it is (ovopata), then you are in the plural; if
not (6vopa), then you are in the singular.

7 Whatever change you see in the nominative singular is also present in the dative
plural because both case endings begin with o (hint #2,10.6). The case ending is o1, the
reverse of the first and second declension ending. The v in parentheses after every form
is a movable nu.
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10.11  The word tig (with accent) is the interrogative pronoun (e.g., “who?”).
The word tig (without accent) is the indefinite pronoun (e.g., “any-
one”). Both are formed from the same stem, *twv. The masculine and
feminine are identical in form, and all genders are third declension.
The change in the nominative singular is explained by the fact that v
drops out when followed by a 6. *1wv + ¢ — tig (hint #3, 10.6).

masc & fem neut masc & fem neut
nom sg Tig it TG T
gen sg tivog tivog Twvog Tvog
dat sg Tivt Tivt Twi Tl
acc sg Tivo it Two T
nom pl Tiveg Tiva TWEG Twva
gen pl Tivov Tivov WOV TV@OV
dat pl tiouv) tiouv) Toi(v) Tioi(v)
acc pl Tivog Tiva TWOG Twva

tig is always accented on its first syllable. 1ig is either not accented or is
accented on its last syllable (the “ultima”).

10.12 The word &i¢ is an adjective meaning “one.” The stem of the masculine
and neuter is *¢v, and the feminine is the first declension *pa. In the
nominative singular the v drops out before the o (hint #3, 10.6), and the
stem vowel ¢ lengthens to &1 (*év + ¢ — &g — €lg).

masc fem neut
nom sg glc pio &v
qen sg £VOG G £VOG
dat sg évi g évi
acc sg éval piov gv

Notice that this word has a rough breathing in the masculine and neu-
ter. This will help differentiate it from the prepositions &ig and év.?

10.13 In the first and second declensions, the masculine and feminine are
often different in form. In the third declension, however, they are usu-
ally similar. In the nominative and accusative, the masculine and neu-
ter are usually different.

8 Why is there no plural to this word? I only ask this because I asked this question in
my first-year Greek class and then felt silly when I heard the answer.
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Halftime Review

m  Third declension words have stems ending in a consonant. Always memo-
rize the genitive singular so you can see the stem.

m  When the final consonant of the stem is joined with the case endings,
sometimes the consonant is changed. This generally affects nominative sin-
gular and dative plural.

m  The four hints:
®m  Memorize the genitive singular form with the lexical form.

m  Whatever happens in the nominative singular (¢) also happens in
the dative plural (o).

m  vand t drop out before a ¢ (hints #3 and #4).

m  Third declension words use three different case endings (og, 0, &) and two
somewhat different (o1, ag).

Characteristics of Third Declension Nouns

10.14 Master Case Ending Chart. My recommendation is not to memorize
the previous paradigms, but to memorize the case endings in this chart
and see how the case endings appear when attached to a noun. Study
them carefully, note what they have in common, and especially what
they have in common with the first and second declensions. There are
other subpatterns within the third declension; but if you know these,
the rest are relatively easy to recognize.

The first chart shows the true case endings. The second shows what the
endings look like when attached to the final stem vowel.
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first/second declension third declension
masc fem neut masc/fem neut
nom sg o - v G _a
gen sg vP S v 0g 0g
dat sg 1 ! ! & l
acc sg v v v a/ve -
nom pl ! ! o £¢ af
gen pl ()% ()% [)Y ()Y ()Y
dat pl 1G 1G G ou(v)s ci(v)
acc pl vgh S a ag! a
masc fem neut masc/fem neut
nom sg 0g a n ov ¢ - -
gen sg oV ag ng oV 0g 0g
dat sg (@] o n o 1 v
acc sg ov av nv ov al/v -
nom pl ot ot [} £G o
gen pl [Q)% ()% ()% @V ()Y
dat pl 01g olg o1g ou(v) oi(v)
acc pl ovg oG e} oG o

Be prepared for the final stem letter to undergo changes (rule 8).

®  The ending is actually o, which contracts with the final stem vowel and forms ov (rule 5).

C

The vowel lengthens (rule 5) and the 1 subscripts (rule 4).
4 Because third declension stems end in a consonant, the 1 cannot subscript as it does in the first
and second declensions; it remains on the line (“adscript”).

¢ On some words the case ending alternates between o and v.

As opposed to the first and second declensions, this a is an actual case ending and not a
changed stem vowel. This is also true in the accusative plural.

8 The vis a movable nu. Notice that the ending ot is a flipped version of 1g found in the first and
second declensions.

" The actual case ending for the first and second declension is v, but the v drops out because of
the following o. In the first declension the a simply joins with the ¢ (*wpa + v — &pog), but in the
second declension the final stem o lengthens to ov (rule 5; Aoyovg — Aoyog — A6youg).

i

As opposed to the first declension (e.g., dpa), the o here is part of the case ending.
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10.15

10.16

10.17

10.18

10.19

Gender. The gender of third declension words can be difficult to deter-
mine because the inflectional patterns are not as distinct as those in the
first and second declensions. Therefore, you must memorize the gen-
der of every word.

There are, however, a few patterns. In this chapter you will meet stems
ending in paz (e.g., 6vopa, patog, 16). All pot stems are neuter.

The article. The article becomes especially important now. Even
though a noun itself changes its form, the article always remains the
same. 1@ will always be 1@ whether the noun it modifies is first, sec-
ond, or third declension. Most nouns are modified by the article, which
makes it easy to determine the noun’s gender.

Square of Stops

A stop is a consonant whose sound is formed by slowing down or
completely stopping the flow of air through the mouth.

“Stops” are broken down into three classifications.

m  Labial. 7, B, and ¢ are formed by using the lips to impede the air
flow momentarily. Try to say © without letting your lips touch.

m  Velar. k, v, and y are formed by pushing up the middle of the
tongue against the soft part of the roof of the mouth.’

m  Dental. 1, §, and 6 are formed by clicking the tongue against the
back of the teeth.!

Rule 7. Square of Stops. The seventh of the eight noun rules is this chart.
Be sure to memorize it exactly. Not only should you be able to repeat it
left to right but also top to bottom.

stop unvoiced  voiced aspirate
Labial T B 0]
Velar K Y %
Dental T ) 0

°  Some people use the term “palatals” to describe these three consonants because the
soft part of the mouth'’s roof is the palate.

10 Actually, it is not the teeth but the alveolar ridge behind the teeth that is used, but the
word “teeth” is easier for most to associate with “dental.”
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B 7 K and t are “unvoiced” because the voice box is not used in their
pronunciation.

m B, v, and § are “voiced” because the voice box is used. (Place your
fingers on your voice box and pronounce these letters. You will feel
it vibrate when you say the voiced stops.)

m  The final column of stops, ¢, x, and 6, technically are not stops but
“aspirates” because the air flow is only slowed down. However,
because they fit into the pattern, it is easier to view them as stops.
The rough breathing is also an aspirate.

The chart is important because the stops behave in a consistent man-
ner. Whatever happens to a stem ending in t also happens to a stem
ending in §, because 1 and 8 are both dentals. If you learn the chart,
you will often be able to predict what is going to happen. This is much
easier than memorizing different paradigms. This same Square of
Stops will also be important when we study verbs, so a little time spent
here saves hours of frustration later.

10.20 Stops plus 6. Whenever a stop and a 6 come into contact, the results
are predictable. Learn these changes well because you will encounter

them often.
Labial + — \}
Velar + — &
Dental + c —
*GopK + — obp&
*okolom  + — okO oyt
*Ovopot + — ovopoot!?

10.21 Rule 8. At cannot stand at the end of a word and will drop off. For example,
the stem of the word for “name” is *évopat. No case ending is used in
the nominative singular and the final © drops off.

*ovopot + — — dvoua

This is the final rule for case endings. You know all eight. They are
listed in the appendix, page 422.

I There are only seven nouns in the New Testament whose stems end in 7, but many
stems end in k or 1.

2 Technically, the dental forms a ¢ and the double ¢ simplifies to a single ¢ (*ovopat +
ol — OVOpAGGL — OVOUOGL).

Chapter 10. Third Declension 103

bbgreek4_02_bm.indd 103 @ 11/8118 8:11 AM



g

10.22 The word ndg is a 3-1-3" adjective and is often used as the paradig-
matic word for the third declension. The stem of the word is *mavt,
which in the feminine is altered to *maca.'* Armed with this knowledge
and the rules in this chapter, you should be able to write out the entire
paradigm for this word without looking below. Try it. If you can, you
are doing well.

3 1 3

masc fem neut
nom sg oG yovieyel mav'e
gen sg TOVTOG naong!’ TOVTOG
dat sg ToVT oo oV T
acc sg wavTo nacav Tav
nom pl TAVTEG oot TAvTOo
gen pl TavVTOV TOoOV %Y
dat pl naci(v)? Tao0IG nac(v)
acc pl TOVTOG whoog ThvToL

If you like to memorize paradigms, this is the one! Not only does it
show the first and third declension, but it is key for learning participles
(chapter 26).

10.23 Because ndg is an adjective, it can function substantivally. When it does,
it may require an additional word like “people” or “things.” But unlike
other adjectives, ndg usually is in the predicate position when modify-
ing a noun.

ndg 0 dvBpomog means “every man.”

13 “3.1-3” means the masculine and neuter follow the third declension, while the femi-
nine follows the first declension. See 10.24.

% For you who are interested in advanced morphology, it is altered because a conso-
nantal iota (20.24) was added to form the feminine stem, and vt + consonantal iota form
oo, (see MBG on ndg).

15 The vt drops out before c.
6 No case ending is used, and a 1t cannot stand at the end of a word so it drops off.

17" Do you remember the rule governing the final stem vowel in the genitive and dative
singular? If a first declension word has a stem ending in o where the preceding letter is
g 1, or p, it will form the genitive and dative with a. Otherwise, the a shifts to n.

18 The vt drops out before o; also in the dative plural neuter.
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Categories

10.24 Adjectives fall into four categories, depending on which declension
they follow and whether the masculine and feminine forms are the
same or different. The masculine and neuter always follow the same
declension. You met the 2-1-2 and 2-2 patterns in chapter 9.

category  masculine feminine neuter example
2-1-2 2 declension 1 declension 2 declension  ayafdg, 1, 6v
3-1-3 3 declension 1 declension 3 declension 7dg, mdco, TavV
2-2 2 declension 2 declension 2 declension aidviog, aidviov
3-3 3 declension 3 declension 3 declension tig, ti

Article

10.25 There are two special situations concerning the translation of the
article.

The article in Greek is much more than just the word “the.” It is a
“weak demonstrative,” which means it can function as a demonstra-
tive (“that”), a relative (“who”), or even a personal pronoun (“he,”
“she,” “one”), depending upon the needs of the context. You will usu-
ally have to add a word to your translation to help, such as “who” or
“which.” Let the context determine which is appropriate.

When you find the phrase 6 8¢, the article is usually functioning as a
personal pronoun, “but he.”
0 6¢ omic® pov £pyOpEvVog ioypOTEPOS OV E0TLv (Matt 3:11).

But he who is coming after me is mightier than I.

10.26 Sometimes you will find the article before a prepositional phrase. I
mentioned this at 9.15.
hopmel Tov Toig &v tf) oikiq (Matt 5:15).
It gives light to all who are in the house.
The article is showing that the following prepositional phrase (év tfj
oikiq) is in an attributive relationship to ndcw. It is the same type of

relationship that we have seen with adjectives: “article-noun-article-
modifier,” only here the modifier is a prepositional phrase.

In order to translate this construction, you will normally turn the prep-
ositional phrase into a relative clause and supply whatever words are
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necessary (“who are in the house” in the example above). The article
will be in the same case, number, and gender as the word it modifies.

Summary

1. Words whose stems end in a consonant use third declension case endings.
2. The hints:

m  Memorize the genitive singular form with the lexical form; drop
the case ending from the genitive singular to find the stem.

m Whatever happens in the nominative singular (g) also happens in
the dative plural (ou).

m  vand t drop out before a 5, and 7 at the end of a word.

3. To remember the gender of a third declension noun, memorize its lexical
form with the article. To remember the stem of a third declension noun,
memorize its genitive form as well as the stem itself.

4. Memorize the Master Case Ending Chart perfectly.
5. Rule 7: The Square of Stops (including what happens when ¢ is added).

stop unvoiced voiced aspirate c
Labial T B [0) \
Velar K Y x &
Dental T ) 0 c

6. Rule 8: At cannot stand at the end of a word and will drop off.

7. 6 8¢ can be translated “but he,” and the article before a prepositional
phrase is probably signaling that the prepositional phrase is an attributive
construction.

8. midgis a paradigmatic word for grammar yet to come (participles), so learn
it well.

Be encouraged! You now know all three declensions and almost all noun forms.
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Vocabulary

Be sure to memorize the nominative, genitive (and hence the stem), and the
article for each third declension noun.

&l if (502)
This is not the same as &, which means “you are.”
Watch the accents carefully, because &i does not
have its own accent. Like éav, i always introduces
a dependent clause, and therefore you will not
find the main subject or verb of the sentence in the
el clause.

gl un except; if not (86)
These two words together can form an idiom (see
below) meaning “except.” Other times they are
best translated “if not.” i pf often introduces a
dependent clause.

An “idiom” is a phrase that does not have the
same meaning as the sum of its parts. When
looking at the meaning of each word in the idiom,
you can seldom find the meaning of the idiomatic

phrase.
elc, pio, &v *&v/* o (345)1
one
fon now, already (61)
bvopo, —atog, 0 *dvopart (230)%°

name; reputation

ovdeic, ovdeptia, 00vdEV ov(8g) + *&v/*a (227)
no one, none, nothing
The second half of this word declines just like
€lG.
nd¢, nhoa, TV *novt/*noca (1,243)%
singular: each, every
plural:  all

9 A hendiadys is a figure of speech in which two nouns describe one thing. It is from
the phrase &v 81t voiv, meaning “one thing by means of two.” Henotheism is the belief in
one God while allowing for the existence of other gods.

2 Onomatopoeia (dvoparonotia) is when the name of a word sounds like its meaning,
such as “bang” and “whisper.”

2L Pantheism is the belief that God is in all things.
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mepl gen: concerning, about (333)%*
acc: around

oap&, capkog, M *capk (147)%
flesh; body

GOV dat: with (128)*

oo, —0tog, TO *sopor (142)%
body

TéKVOV, —0V, TO *1ekvo (99)20

child; descendant
Tig, i *1tv (555)
who? what? which? why?

When this word means “why?” it will be in the
neuter (ti).

TIG, L *1y (525)

someone/thing; certain one/thing; anyone/thing
Total word count in the New Testament: 138,148
Number of words learned to date: 102
Number of word occurrences in this chapter: 4,623
Number of word occurrences to date: 78,667
Percent of total word count in the New Testament: 56.94%

It is common for students at this point to stop memorizing vocabulary because
there is so much grammar to learn. Even if you are struggling with grammar,
be sure to stay up with your vocabulary, and be sure you are reviewing. How
well you know the grammar serves little purpose (or has little value) if you do
not know what the words mean; you will not be able to translate a passage. So
hang in there; the remaining noun chapters are much easier from here on out.

2 The perimeter (nepiuetpog) is the boundary around an object or area.

B A sarcophagus (capko@dyog) is a stone coffin. In Greece they were made of limestone,
which was believed would consume, or “eat” (payéw), the flesh.

2 “Syn” is a common prefix. A synagogue (covaymyn) is a place where people come
together. Synaeresis (cuvaipeoic) is the contraction of two sounds into one.

% A psychosomatic disorder is a physical disorder caused by the psychic/emotional pro-
cesses. Somatology is the study of the body.

2% Teknonymy is the custom of naming the parent from the child. My software company
is named Teknia, because it was my intention to get out of commercial database pro-
gramming and help children learn, such as at KidsGreek.com.

108 Basics of Biblical Greek

bbgreek4_02_bm.indd 108 @ 11/8118 8:11 AM



Previous Words

Memorize the genitive forms of these two words.
TVEDLO, —0TOG, TO spirit, Spirit

Zipwv, —mvog, 0 Simon
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GA 106 is a 11th-12th century minuscule on parchment that contains the four Gospels.

The scribe used many different colors, mainly blue and red, around the title, and the

text is written with gold ink (gold powder mixed with other materials). The minuscule

is from the Chester Beatty Collection in Dublin and used with permission. Photo

provided by the Center for the Study of New Testament Manuscripts (www.csntm.org,
Dr. Daniel B. Wallace, Executive Director). It has been slightly cropped and enhanced so

you can see the script more clearly.
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